20, 1HHFHLYAR

R FRLIF10A 1R (A) ¥ E 3.14
By A fitEr R

Ji=A 2.7 — | 2,156,607 | # & BT 3.4 19 2,033
T E B 26| 72 342,266 | K N WT 35| 9 3,712
g% + W 3.0 49 26,403 | /5 B I BT 3.3 25 7,950
o 2.3 80 191,932 | 1h ®H HET 401 2 2,853
A I 2.5 | 17 216,413 | B | AT 351 9 1,526
8 W T 2.7 | 69 19,299 | & & ET 35| 9 5,097
ANE B 2.9 1 57 42,849 | T B BT 43| 1 1,987
wOF W 261 72 180,765 | B H= T 3.7 3 4,676
L < i 7 3.0 49 40,900 | ¥5 & HT 35| 9 3,211
£ R W 33| 25 14,891 | 88 [ WT 3.3 | 25 3,351
B OR oW 2.9 | 57 31,994 | 3% T 351 9 3,506
R B W 2.6 | 72 36,832 | BF ¢ WY 361 5 2,789
e B W 3.0 | 49 57,950 | RHEE BET 3.1 41 14,984
® & 3.0 49 19,601 | Ju--uBET 3.1 41 6,422
AN BHIBH 3.4 19 9,567 | ik H BT 3.2 | 32 7,764
T8, H 3.2 32 12,787 | (b # ET 33| 25 6,148
BEHFS 2.5 77 60,891 | # H 35] 9 1,364
i il 2.71 69 118,305 | &% & #7 3.3] 25 3,497
B WO 26| 72 9,218 | #& & &7 3.2 32 4,612
moE 2.9 | 57 97,152 | & (i HT 35| -9 2,443
o wi 291 57 52,635 | — B HT 3.1 | 41 3,826
NF 2.8| 65 59,783 | B2 R AT 351 9 2,393
B a7 2.8| 65 45,592 | & A& 3.2 1 32 4,341
L T 2.6 | 712 11,420 | @ F HT 3.4 19 3,925
;S ) 2.9 57 35660 | &= #§ HT 35| 9 2,499
B &g W 2.9 57 32,106 | & ® HT 36| 5 3,095
B os o 321 32 16,815 | X & &= BT 341 19 3,553
W& W 241 79 54,696 | B & AT 3.4 19 2,356
09 29| 57 28,280 | 1 1§ HT 2.9 | 57 2,821
#hor W 3.1 41 18,953 | X | T 3.1 41 6,651
N #H TR 3.2 32 22,462 | IR BT 3.0 41 4,775
N P T 33| 25 18,549 | & # #T 3.0 ] 49 1,901
B = T 35| 9 9,146 | & i HT 3.1 41 2,025
B B W 3.2 32 14,223 | 88 ® HT 3.0 | 49 3,582
8~ F 07 28| 65 187 | = % 36| 5 1,308
B B E 3.0 49 16,584 | B & HT 2.7 | 69 2,247
H & & 3.7 3 2,761 | + & & 3.0 | 49 4,413
n H AT 3.2 32 15,389 | u o AT 3.2 32 1,782
KA F 36| 5 2,131 | fr M HT 3.1 41 1,877
5 By 34| 19 7,607 | R/ BT 2.8 | 65 2,806
T # B 3.3) 25 2,512
CmE)
-HEHHET SEHRIEAEEAD]
HEHFE AD-itEr
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